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1. T Helifteh TEmdiet dod HaT IUAX Fod S A Recle T SR
| < .
(1) %4 (2) U= S ® 9A ) 3t
is the first nation in‘ the world to sct the record of introducing the fastest
train service.

(1) France (2) Japan (3} China (4) USA.
2, 3 TR I HUIE W SUR qRA ufgel I89 8,
(1) ™eWE (2) @ (3) T (4) I W
is the first state in India to make a proposal for compulsory voting.
(1) Maharashtra (2) Kerala (3) Gujarat (4) Uttar Pradesh
8. 2008 ¥ TEHRT Bk TN SRR .
(1) W e (2) Fme Il
(3) =& Tl (4) I HEIEEA
Dadasaheb Phalke Award (2008) was given to
(1) Manna Dey {2)  Kunal Sharma
(3) V.K. Murthy (4) Shankar Mahadevan
4. ne A S 9 A e sfeen e dea g,
(1) 2006 (2) 2007 (3) 2008 (4y 2009
“The Right of Children to Free and Compulsory Education’ Bill was passed in which
year ?
(1) 2006 (2) 2007 (3) 2008 (4) 2009
5. UgEq TgEEEl 1581 g age qiug A9 WA g,
(1) =% (2) femReds
(3) TS (4)  HI=T
15 Conference on Climate Change by U.N.O. was held at
(1) Denmark (2) Switzerland
(3) Thailand (4) Canada
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6. S Uw=A gaul meiwdl awifafie ARa WERA 2009 - 10 § W o U
R HUAT SEIT e,
(1) FHE (2) Feesr ufeg
(3) demEd i (4) FHIEET
To celebrate the Golden Jubilee year of the Panchayati Raj, the Government of India
has declared the year 2009 — 10 as a year.
(1) Gram Sabha | (2) Zilla Parishad
(3) Panchayat Samiti (4) Gram Panchayat
7. wigar, Frereie onfin fasmmmEEd= 2009 @1 $E M SATUEE [EER
7t feelr e,
(1) aFeeer= GOHEE I g
(2) R FEE e o s
(3) T dawu A" g S
(4) TRAAT TPUal Sfaar widie
Indira Gandhi International Award for Peace, Disarmament and Development, 2009
was given to
(1) Smt. Sheikh Hasina, the Prime Minister of Bangladesh
(2) Mr. Lee Myung-bak, the President of South Korea
(3) Mr. Najib Tun Razak, the Prime Minister of Malaysia
(4) Smt. Pratibha Patil, the President of India
8. 2009 — 10 =T TEAT TATE] WAl fawE & = gadl gl
(1) 11-00% (2) 8-8% 3y 79% (4) 95%
What was the development rate of Indian economy in the second phase of the year
2009 - 10 ? -
(1), 11-00% (2) 88% (3) 79% 4) 95%
9. ‘wmelm fraffeR @1 faAwRre  SiaEd! e i festedie
(1) IRT, FEA (2) ¥eg T
(3) T SR (4) TR WHH

Who is the Indian recipient of the Oscar Award in Music Direction for ‘Slumdog
Millionaire’ 7 -

(1) R.A. Rehman (2) Elai Raja

(3) Karan Johar (4) A.R. Rehman
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10. 2009 ¥ 19 Fui@A fihe favaavs (Tew) CHIERECTON

(1) 9d (2) UHEEIH

(3) el (4) 3eiE

Which country won the Junior (Under-19 Boys) World Cup of Cricket in 2009 ?
(1) India (2) Pakistan

(3) Australia (4) England

11, ST SR HE9e058 (WTO) 2010 W& T ST 2 37R.

(1) 150 (2) 153 3y 71 (4) 180

How many countries are members of the World Trade Organizaiton (WTO) in the year
2010 7

(1) 150 (2) 153 3) 71 (4) 180

12, gy AR OYTadt s

(1) Je we (2) R T
(8) feren feafia (4) o 9w
is the present Speaker of the Lok Sabha.
(1) Mrinal Pande {2)  Vasundhara Raje
(3) Sheila Dikshit (4) Meira Kumar

13. YRAY TOHSRY) ‘eTEErE’ =gt ERERCUC i

(1) 3ryfuq s (2) eIy S

(3) 9ol S (4) fomaa SR
Which word is used for ‘Adivasi’ in the Indian Constitution ?

(1)  Scheduled Tribes {2) Scheduled Castes
(3) Nomadic Tribes (4) D-Nomadic Tribes

14. TT 2009 U¥ $UAd a7 A=A Gl ~TATa=al GLamamiersme

[HUE T CUgM AR 3R,

(1) ¥ 40,000 (2) ¥ 80,000 (3) ¥ 60,000 (4) ¥ 1,00,000
As per the new amendment of 2009, the revised monthly salary of the Chief Justice
of the Supreme Court of India is

(1) ¥ 40,000 (2) T 80,000 (3) 60,000 (4) ¥ 1,00,000

T SIS SR / SPACE FOR ROUGH WORK
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15. &1 fasus g A FraeuE SR Afa Arder F sefauar TRy
SRATT TP et |
(1) faeE (2) TH. FEILA
(3) UA. T (4) TH. THREETE
The Chief Election Commissioner made the rccommendation to the
President of India to remove the Election Commissioner Navin Chawla.
(1) Lyngdoh ' (2} N. Krishnamurthy
(3) N. Gopalaswamy (4) N. Ramaswamy
16. TF 2007 — 08 YT WA Midl derEw ME AifeHe AuesstEvia g foreRr
TR WgH HHGET 3B,
(1) mefeet  (2) TR (3) 9w (1) FIRR
district was the number one in Maharashtm in the implementation of
‘Mahatma Gandhi Tanta Mukta Gaon’ campaign in the ycar 2007 - 08.
(1) Gadchiroli (2) Raigad (3) Satara {4y Kolhapur
17. WWWWWWMW@ ?
(1) faerer (2) st (3) WifE=H (4) TR
Which one of the following places receives the highest rainfall in the world ?
(1) Silchar (2) Cherrapunji (3) Mawsynram (4) Guwahati
18, ety 2008 =1, ¥9i® =0T HiMeT HENyr TeHdl et
(1) feehn a9 uRe (2) FHedd T
(3) wEE WA (4) Toomfas mfeq widiet
In December 2008, in the Ministry of Ashok Chavan was the Home
Minister of Maharashtra.
(1) Dilip Valse Patil (2) Harshvardhan Patil
(3) " Jayant Patil | (4) Vijaysingh Mohite Patil
19. T 2008 TS TSR SV WEEd A fumese @ foewr qeErEE
forer e,
(1) THATA (2) UTHrellel (3) U (4) Hedrd
In 2008, State Election Commissioner ____ Was given two days prison
sentence by the Legislative Assembly. |
{1) Ramlal (2) Papalal (3) Champalal (4) Nandlal
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20. 26 TR 2008 st A gl oA Foed Wielens #URT ST goel
T g ?
(1) (2) ¥R (3) STERE (4) forsidies
Which of the following hotels was no# attacked on 26" November 2008 by terrorists
in Mumbai ?
(1) The Taj (2) Centaur (3 Oberoi (4) Leopold
21. TG SEel G SHeAT, H EATAT 2005 <A Wi sy o ek
- Tifedt et sremade e eme 2 :
(1) 24 a9 (2) 48 ™ (3) 7 fe=g (4) 30 feaw
If a person is in a life threatening situation, the concerned information must be
supplied within what period according to Central Government’s Right to Information
Act, 2005 ? .
(1) 24 hours (2) 48 hours (3) 7 days (4) 30 days
22, IV TGN AFICAT AeHTE G e ?
(1) =Y (2) TS0
(3) USTEH (4) femra mRw
In which state was the Lok-Adalat movement started for the first time 7
(1) Maharashtra | (2)  Gujarat
(3} Rajasthan (4) Himachal Pradesh
23. WEUY TSR g qivd=n stemer 07 srar ?
(1) W W (2) FHS HeEm
(3) ToHE (4) fomor w3t
Who is the President of Maharashtra Rojgar Hami Parishad ?
(1)  Labour Minister (2) Social Welfare Minister
(3} Chief Minister (4) Education Minister
24. 2006 =1 fawren fae (Fofem) aifferfis wafe smiem T7 <M el T B

Tl SRS AT / SPACE FOR ROUGH WORK

(1) g (2) % (3) w2l (4) ¥
The Twentieth Winter Olympics 2006 were held in
(1)  Greece (2) France (3) Italy (4) Spain
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25, TEIES 19 TR 2006 Iot YEaCEd SN iU AW AT FH 2
(1) & (2) = BREAH (3) SIEAT (4) Feaq
The U.S. spacecraft sent to visit Pluto on January 19, 20086 is called as
(1) Hubble (2) New Horizons (3) Cassini (4) Columbus
26, @EiEa v BT I G e e 3T 7
(1) =g (2) YETER (3) AT (4) Y3
Which city of the following has a headquarters of two divisions of the Railways ?
(1) Chennai (2) Bhuvaneshwar (3) Nagpur {4) Mumbai
27. 1887 A T ‘It TPt g 9fiNe e el
(1) WF. T (2) i sen
(3) TAES. T (4) @S feaw
In 1887 ‘Indian National Social Conference’ was established by
(1) G.K. Gokhale (2)  G.V. Joshi
(3) M.G. Ranade (4) B.G. Tilak
08, SNEAETET AN S S T Rl SEE e R Ol SRy . o A|
T B ?
(1) ® S (2) wa g
(3) W TR (4) T TS
What was the name of the military officer who gave the order of firing at Jallianwala
Bagh massacre ?
(1) Sir John Simon (2) A.O. Hume
(3) Gen. Dyer (4) AV Alexander
99. TERIPNIT WM fSiogan WfaweRal @ ol et ?

(1) IS TR0 (2) T e

(3) frea 4R (4) TEF T R

Who was the founder of counter Government in Satara district of Maharashtra 7
(1) Yashwantrao Chavén (2) Nana Patil

{3) Kisan Veer (4) Vasant Dada Patil
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30. 1953 =1 ToF THREAT AR e HI0T g ?
(1) .TH. UiEE (2) A 3T
(3) fed geEg &5 (4) UHTR. e
Who was the Chairperson of the States Re-organization Commission in 1953 ?
(1) K.M. Panikkar (2) Fazal Ali
(3) Pt. Hridaynath Kunjru (4) S.M. Joshi
31. ‘g fEnm dgen SeE @ g ?
(1) e 74 (2) gfeu
(3) WANRS! 2ER (4) Ul SEEET TEE
Who was the founder of the “National Planning Commission” ?
(1) Gulzarilal Nanda (2} Indira Gandhi
(3) Morarji Desai (4) TPt. Jawaharlal Nehru
32, fa.3 WEER T 1904 ALY ERIGRG @A HOSAT T Sl
(1) id o (2) TP wagas Oy
(3) 9T TRA (4) e giFd
In 1904, V.D. Savarkar founded the following organization of revolutionaries.
(1) Kranti Sena (2) Rashtriya Swayamsevak Sangh
(3) Abhinav Bharat (4) Anushilan Samiti
33. § 1945 AR I AETFIETC WeHH A |t Jnvar a7t
(1) oo Meiis 2) fE-wEe
(3) W (4) TEL TRaA
In 1945 under the chairmanship of the Co-operative Planning Commission
was founded.
(1) Dhananjay Gadgil (2) Vikhe-Patil
(3) Sarayya (4) A.D. Gorwala
34, “UNd FUF OETEr T FON sl ?

(1) TE. F=F (2) €. 99EE e

(3) TN 3R, (4) B aETEReT fidea
Who founded the “Bharat Krishak Samaj” ?

(1) R.D. Karve (2) Dr. Panjabrao Deshmukh

(3) G.G. Agarkar (4) Dr. Babasaheb Ambedkar

ol HITES! FNT / SPACE FOR ROUGH WORK
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35. e fHIR Ted SRR famm ' 3 TEEA T 3R,
(1) R@ anfor gHuETM (2) Wi onfr 3w
(3) THUFTW i ST (4) @ afr i
The north-south cxtent of Konkan Ceast lies between and rivers.
(1) Terekhol and Damanganga (2) Savitri and Ulhas
(3} Damanganga and Ulhas (4) Terekhol and Savitri
36. ‘Sl U SEE BRI
(1) =R (2) aTmTEd (3) AME (4) FTeA!
‘Chandoli’ National Park is located in ~ district.
(1) Chandrapur  (2) Amravati (3} Nagpur (4) Sangli
37. Tivad FyER wfag SR ?
(1) TE qoEE ®W (2) Ufieifas freen
(3) d=ged fewmT (1) Fme
What for is ‘Vajreshwari’ famous ?
(1) Hot spring (2) Historical fort
(3) Hill station (4) Kumbh mela
38. TRNYME ‘gwivay g ‘Oifafer e forear v fod 1R,
(1) et (2) R
(3) 3T : (4) diE
The ‘Jyotirling’ of ‘Ghrishneshwar’ lies in the district of Maharashtra,
(1) Hingoli (2) Nashik
(3) Aurangabad (4) Beed
39, AN, Wiewg, WURGOT fT SfEE @ oA WeiE e Foed fawedm

T ?

(1) g (2)
(3) AT (4) Se2Tq
The caves of Devlane, Chandwad, Chambarleni and Ankai lie in which of the following
districts of Maharashtra ?

(1) Pune (2) Nashik
(3) Ahmednagar (4) Jalgaon

TTH BIFMTST ST / SPACE FOR ROUGH WORK
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40, 2001 < SURVRATER AT Torel) SR A Hatd i I,
(1) EvEd WKW (2) oz
(3) e - (4) TS
According to the Census of India 2001, state has lowest density of
population.
(1) Arunachal Pradesh (2) Mizoram

(3) Meghalaya (4) Nagaland

41, AR GAldE Haid g qdd T S 2

(1) = (2) TEERE

(3) fEen wda swen (W) (1) 3FE

Which of the following is the oldest mountain range in India ?
(1) Nilgiri (2) Eastern Ghats
{3} Vindhya Range (4) Aravallis

42. RN S fieg ‘TomEtn fSear " siewel S 2

(1) Tefae (2) wHEr
(3) ¥ER (4) adf
Which district of Maharashtra is known as the ‘lake district’ ?
(1)  Gadchiroli (2) Bhandara
(3) Chandrapur (4} Wardha
43, T A 22 HEE TS ST
(1) TEE (2) #ER
(3) TTedlT (4) IR
The Ganga river enters the plains at
(1) Rudraprayag (2) Haridwar
{(3) Garhwal {4) Allahabad
44, o IR AT R AT
(1) FHEET (2) vErgd |iHa
(3) fower uitwg (@) dEEE T
does rot have independent sources of income.
(1) Gram Panchayat (2) Panchayat Samiti
(3) Zilla Parishad (4)  Panchayat Raj

T BERITS! 5 / SPACE FOR ROUGH WORK
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45.

P T | g T L e U e s g e

12 A
R e fOeH T e e U ST STHATd.

(1) fHegae Towaat (2) TS AT

(3) Tsgufiged 44t (4) g TR

is the Chairman of District Planning and Development Board.
(1) Guardian Minister of the District (2) State Finance Minister

(3) State Transport Minister {4) None of these
46. TREKE AEOT T e U SEE .
(1) wHgEEd (2) = G
(8) focer 9ieg (4) TEEA TS
The rural local self government of India is known as
(1) Gram Panchayat (2) Panchayat Samiti
(3) Zilla Parishad (4) Panchayat Raj
47, TERPW AR TS AT GgA S(HAld e
(1) 19 1960 (2) 1% 1961
(3) 1% 1962 (4) 17 1963
The Panchayat Raj System in Maharashtra came into force {from
(1) 1% May 1960 2) 1% May 1961
3y 1% May 1962 (4) 1% May 1963
48. fde1 Wfivg &G Mes Seled] SHF Hegeriea s1el fSegn wiaen W g,
(1) 30% (2 T0% (3) 5H0% (4) 40%
The Zilla Parishad rcceives share in the land revenue collected from the
district.
(1) 30% (2) 70% (3} 50% (4) 40%
49, fiem o™ _ % T 9N ofEE emy .
(1) ¥ (2) T FrER sfasd
(3) 3urEAY (4) 3I=F
The  of the Zilla Parishad is the ex-officio chairperson of the standing committee.
(1) Mcmber 7 (2) Chief Executive Officer
(3) Vice-President {4) President
50. TR G FUAEE TE e R ST .
(1y 100 (2) 500 (3 1000 (4) 1500
A minimum population of is required to form a Gram Panchayat.
(1) 100 (2) 500 - (3) 1000 (4) 1500

el SIATETS! 5P / SPACE FOR ROUGH WORK



A . 13 KST

51. foea1 ofivcs sigemas @aR Sva am AT,
(1) & FEFE A (2) forer g stemy
(3) feieRiusr (4) Il Gfieh steas
formulates the budget of the Zilla Parishad.
(1) Chief Executive Officer {2) President of Zilla Parishad
{3} Collector (4) Chairman of Standing Committee

52. UEER TS VEA oAU FUEEEl 02 U 1970 I e FERTETe
(1) AT T (2) T TS
(3) T SiHER (4) STOI M

On 2" April 1970 the review committee was formed which was headed by ,
for evaluation of Panchayat Raj system.

(1) Balwantrai Mehta (2) Vasantrao Naik

(3) L.N. Bongirwar (4) Ashok Mehta

53. THSET @el HevETeE JEAer TRUTT,

(1) iR (2) TEgHeR
(3) eI | (4) HAHReR
A device used for measuring the depth of the sea is called as
(1) Fathometer {2) Hydrometer
(3} Altimeter (4) Manometer
54. TS HOE el FAW °IT AR 2
(1) fow=s wmm (2) FFAA 6
3y W (4) AT 66
Which is the first synthetic fibre of the following ?
(1) Silk fibre (2) Nylon 6
{(3) Resin (4) Nylon 66
55. SlEvi=Imde Sfasiwamr snae wue g9
(1) S d5=m (2) ST AT
(3) Tl dae (4) A FHIA
The study of biological processes present in the living organism is called as
(1)  Biotechnology (2) Space technology
(3) Information technology (4)  Nano technology
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56. FAMY FIUAR UH fager qSeen 9 B
(1) Wreirear YA Feear (2) @ @ SR S e
(3) Weiet SFaT AHd (4) fer vEst
The pressure at a point in a liquid
(1) is directly proportional to depth (2) is inversely proportional to depth
(3) is independent of depth ‘ (4) remains constant
57, SR SeEEAAl s fumen fhe BRI wed S TR S o S
UG, UEd AW Sad 2
(1) e W ST (2) Hell S
(3) A SH 4) febfea ama faam
Which gene is used in development of insect resistance transgenic varieties of several
crops in commercial cultivation in U.S.A. 7 _
(1) Coat protein gene (2) Coli gene
(3) Cry gene _ (4) Defective viral genome
58. Tl geenta YR YT ST B
(1) 9 a9 fis el qeEdiE gaE aw g e
(2) frr g @R SHfiA & 8
3) frst semEea ot ger TE § e
(4) TR THE A
For thousands of years India has p.ioneered in
(1) repetition of crop and use of chemical fertilizer
(2) crop and saline soil
(3) erop rotation and soil technology
{4) None of these
59. TV ST WU 3 (TAL WD) A A Il AR,
(1) F (2) WIS (3) TFR (4) =T
Influenza A (HIN1) is a flu virus of origin.
(1) Dog (2) Cat (3) Swine (4) Horse
60. WWWWWWQWW@WWWW

FmTUﬁ?\qTﬁ gard @Rt vsdr ?
(1) 3fufa 2) faem (3)  ATH (4) A

Which radioactive pollutant of the atmosphere is released through mining, washing,

refining and separation processes in Nuclear Technology 7
(1) Argon (2) Krypton (3} Thoron {4) Xenon
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61. WA SUSHIRIY TG 0T HIURT ?
(1) Ve Hom ISR digeren 32
(2) W gRoT
(3) TEfTERROTR smegffReRTT
(4) T T A
What is the main reason for unemployment situation in India ?
(1) Agriculture has stopped absorbing people
(2) Foreign policy ’
(3) Modernisation of industry
(4) None of the above
62. ITfATRIHR &I WO Al ?
(1) S T a2 ad (2) <M A9EE SH 2
(3) TUHHIE T<A B el (4) S FEUT B
What is the effect of Nuclear explosion ?
(1) Increase in global temperature (2) Decrease in global temperature
(3) ~ No change in temperature (4) Water pollution
63. ‘W ICHE ARTH FHUTE gEEt U AR 2
(1) fawrsr (2)  TTgGFRIIT
(3) quf amveA (4) i afs wad
‘Fibre optics’ technology depends upon which phenomenon ?
(1) Diffraction (2) Dispersion
(3) Total Refraction (4) Total Internal Reflection
64, Safyelgar mos

(1) TR fafagar 9 st S Saget Mo g

(2) ST 3R qFeaciar ST gut

(3) TR gai=al TEUATAN fSFTie Ted

(4) G @l Sl Sea TEme e e e & 98T 0 T T 0

Biodiversity refers to the .
(1)  Number, variety and variability of living organisms and ecosystem

(2)  Complete disappearance of species
(3) Migratory birds face the loss of their seasonal habitats

(4) Species become divided into smaller populations that cannot sustain themselves
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65. sgfeT= 3viee g
(1) Wl (2) TR
(3) SEUE qiEgl ' (4) @
Insufficiency of Insulin causes .
(1) Malaria (2) Diabetes
(3) Sickle-cell anacmia {4) Gout
66. T I ST el fyvaE unl QiEvasiar ar S HRE ST T
yodl famdia Feft 3@ ?
(1) 329 A9 sTEd
(2) FHETAT PEUUTTeg TS
(3) HE G WYE 0T IEA
(4) eRar ffem s
Which technology is being developed by Bhabha Atomic Research Centre for providing
potable water in rural areas and in ships ?
(1) High Temperature Evaporation (HTE)
(2) Multi-Stage Flash Evaporation (MSFE)
(3) Desalination Demonstration Plant (DDP)
(4) Salination Degradation Plant (SDP)
67. ST U foga SHeTHE o ool SARMTET AT el Sl H
(1) S 3¥9 arwd ard
2) g6 9 3 FOAEE HHT B d% A
(3) FH o AR AT
(4) A TEE AR
New thermal power plant uses ‘super critical technology’ because of
(1) increasing fuel consumption
(2) start up and shut down quickly
(3) reducing fuel consumption .
(4) None of these
68. oA BN EH o FARAYS U7 B ekl
(1) TS (2) fovreR
(3) TIA-HARMN (4) &4
Deficiency of iodine in daily diet may cause | disease.
(1) Goitre (2) Typhoid
(3) Kala-Azar (4) Tuberculosis
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69. TIEcTis VIR Foll IS yguuT faate gia w7t ?
(1) @ de (2) ] F
(3) HR FeT (4) FBH
Which of the following energy sources is not producing pollution ?
(1) Mineral oils (2) Atomic encrgy
(3) Solar energy ' (4) Coal
70. ST fagEvarEE! aTRvEE Fur faciewed mieiaus v a1y s ?
(1) FEd FHAFERE (2) FoR THRS
(3) TEA SHENTHES (4) THSIA
The gas used in a fire extinguisher is
(1) Carbon Monoxide (2}  Sulphur Dioxide
(3) Carbon Dioxide (4) Hydrogen
71. UF FE07 TROT A7 gR TRgEel S
(1) W Tha 01 a9
(2) W A T AT o
(3) @9 foran aUAT ST U7 AT =
(4) = w4
A complex statistical table represents
(1) only one factor or variable
(2) always two factors or variables
(3) two or more factors or variables
(4)  All the above
72. UH HRE IAEA WA, Fodl WE, AHEE GATH 9 ARdH @9 A1 ST

4:3:2:1 % YHIOTE foumrer e R, A1 A adesiddl weeard gatd giaa |
Tatd de Sl 5T S we fadt e ?

(1y 3° 2y 30°

(3) 36° (4) ATEH A

The cost of production of a certain commodity is divided into raw material, manpower,
machinery and transport cost in the proportion 4 : 3 : 2 : 1 respectively. If a

pie-diagram is drawn for this data, what will be the difference between the central
angles of the largest and the smallest components ?

(1y 3° {2y 30°
(3) 36° (4) None of these

oA BHIFNEIST ST / SPACE FOR ROUGH WORK

P.T.O.



3000 1
2500 ¢

|
5]
£

2000

[] 4-7a
8- 15 T

1500 t
1000 1
500 t

v

8 Y 15 FATET Ud VRHHe fouresiEr auwd 9w fedr ?
(1) 2025 (2) 2225 (3) 2325 (4) 2125

Study the diagram carefully and answer the question, given below.
L

3500

3500
1]

3000 1
2500 ¢

2000 1

D' 4 — 7 years
8 — 15 years

1500 1

1000 1

No. of Students ———>

500 T

v

0

Schools ———
What is the average number of students in the age group 8 to 15 years, from all the

schools ?

(1) 2025 (2) 2225 (3) 2325 (4) 2125
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TelE AT A e eI I AR g TR 30,000 SARdE Frle
Tt 3T,
TE0T FR et AT @ W@ WUaEel Wi a2

(1) 9000 (2y 4200
(3) 13200 (4) 14200

Study the following pie chart carefully, representing a survey, conducted on a sample
of 30,000 people, with their preference for food.

What is the total number of people preferring vegetables and fruits ?

(1) 9000 (2) 4200
(3) 13200 (4) 14200

75.

AT A IFeied! eI aRafiar fauree aadr-faarear dem I (o) @ A
area

(1) TR gRaEr (2) e B

(3) TRANCRT THeart (4) IRENET Sl

In case of frequency distribution with classes of unequal widths, the heights of bars
of a histogram are proportional to

(1) Class frequency (2) Class intervals

(3) Frequency in percentage (4) Frequency densities

o] BHETS! FFT / SPACE FOR ROUGH WORK
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76. AN wH G e SR R wfed aRafia ste’ W fgd TeRee dea -
(1) =g (2) HEHSHT
(3) FgH (4) 9RY fag
Ogives (Cumulative Frequency Curves) for more than type and less than type
distributions intersect at
(1) Mean (2) Median
(3) Mode (4} Origin
77. GO RO TR AEYE IqeA SRafEed TR,

(1)
(3)

- AU I

™ Rl AT §T

1989 — 90 580 170 150 350

1990 — 91 600 220 234 400

1991 — 92 560 240 228 420

1992 — 93 680 300 280 460

1993 - 94 860 260 340 500

1989 - 90 1993 - 94 AT HFAGH TR IWEA UHV ICNCAET ot T o 2

41-87 (2) 4287
42-35 (4) 4107

The following table shows the production of foodgrains in a state.

During the period from 1989 — 90 to 1993 - 94, what percent of the total production

Production of foodgrains

Year
Wheat Rice Bajra Other
1989 — 90 580 170 150 350
1990 - 91 600 220 234 400
1991 — 92 560 240 228 420
1992 — 93 680 300 280 460
1993 - 84 . 860 260 340 500

is the production of wheat ?

(1)
(3)

41-87
42-35

(2) 42-87
{4) 41-07

Pocdl BHFTS! 3R / SPACE FOR ROUGH WORK
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78.

21
fetT el

fareqoy | e 3 3
194} 398
qaaﬁg;r{ 426 #

fuediet 500
THIT 1400
ST TRV AR STHR ARG (x) IR geE Ted R A ?
(1) 502 (2) 76 {(3) 400

_ Gender Boys Girls Total

Education

H.S.C. (12th) 398
Graduates 426 ¥
Post-graduates 500
Total 1400

Using the data given in the above table, entry in the cell with %’ should be
(2) 76

(1) 502

(3)

400

79.

KST

ggd forwRg St ame ?
(1) #igm FEUE qUE arth (HuHe €Eim)

2) Taaas
(3) TEd

(4) FETH FOWE TE

In dryland farming area, which cultural method is adopted for conserving the rain

water in soil during rains ?
(1) Compartment bunding
(2) Farm pond

(3) Village pond

(4) None of the above
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80. UG &% faEm FrEAEme o anfn 9o dedd wowE @eidis S ST
HoE g At ?
(1) Fe THAS =
(2) ATl iy
(3y TifeET dum@
(4) .31 931 (FI@TR ggedr=n T
Which of the following is not a soil and water conservation measure which is adopted
in watershed development programme ?
(1) Continuous contour terracing
(2) Nala Bunding
(3} Gabian Bandhara
(4) K.T. Weir (Kolhapur Type Bandhara)
81. T frEnicl Weferis HU SHE T T eI SO SR TR 2
(1) BT (2) JRTAT, (3) wHE-1 (4) ARA
Which of the following genes in wheat crop is responsible for dwarfing of wheat
plant ?
- (1) D.NA. (2) R.N.A. (3) Cry-I (4) Norain
82. WENIF TSATAT UFV Wicid  Gmidwmt  fhdl % &9 2004 — 2005 TR SHREEd
(ShTerETet) B ? |
(1) 33-00 TFh (2) 169 TFF
(3) 2022 TFH (4) 22-22 TFh
Out of the total geographical arca of Maharashtra, state how much percent area was
under the forests during 2004 — 2005,
(1) 33-00 percent (2) 16-9 percent
(3) 2022 percent (4) 22-22 percent
83. WITTAIH FVIA FAC AAEIA IARAST TEF U AFEEIEE R Heret

e 7
(1) W (FE) (2) S (Rag)

(3) TEferew (fafmi) (4) fo=& (@m)

Which of the following plant species is recommended for cultivation on waste lands
for bio-diesel production ?

(1) Jatropha (2) Cassia
(3) Eucalyptus - (4) Teak

Tl SRS SN / SPACE FOR ROUGH WORK
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84, T YA Forel A HOCN G AR WA ST Al HIS ST anEeel
forwre &t 3@ ?

(1) . 86032 (2) . 94012
(3) . A 0265 (F1-265) (4) . 8014

Which recently rcleased sugarcanc variety is salt tolerant and recommended for
cultivation on saline lands ?

(1) Co. 86032 (2) Co. 94012
(3) Co.M. 0265 (Phule-265) (4) Co. 8014

85. U TRERS, el qreqe, #1F. dEred ereemE andd wEr o i

Flaufiat ZiEem 3T 7

(1) F A ST g 3T

(9) F SAEUE SRTEE HE S 3R

(3) « wAfEOTE =EE AR

(4) A AEE § Gy ARARE B OROT gl e AEEd S Teawi 9 2
T H9 SR

Why, for the time being, has the Govt. of India postponed the approval for cultivation

of B.T. Brinjal in India ?

(1) It is hazardous to human health

(2) It is hazardous to animal health
(3) It is hazardous to environment

(4) It is necessary to conduct more systematic and comprehensive trials and tests
on human and animal health

86, 1.2, W'@ﬁmmm afv TS o7V EMEElel e e
feao = ?

(1) sTEERA (2) dfeE qEfauATd %

(3) wfefaeimm (4) FHAEE ROSE AR

Which of the following in B.T. cotton is responsible for control of cotton bollworms

which are the serious insect pests of cotton ?
(1) Azadirachtin (2) Bacillus thuringiensis gene

(3} Verticillium {(4) None of the above

FTed] SIS ST / SPACE FOR ROUGH WORK
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87. a1 e (SN Fieedr 3 el e frgomet e sEn
(1) HrEE (2) =ed
(3) wEFE | (4) T TS AR
The seed extract of trec is used for control of insect pests of crops.
(1) Teak (2) Sandalwood
(3) Neem (4) None of these
88. faarees, widla, amea, foa @ wmEn T .
(1) #FREIR (2) =TT
(3) TECH AT S () T T
Custard apple, Pomegranate, Amla, Tamarind are mainly horticultural erops.
(1) Dry land (2) Irrigated '
(3) Marshy land (4) None of these
89. RN ¥T g% T ol f
(1) 9, g (2) =, |
(3) AN, e (4) ==&, g, [
Erosion resisting crops are
(1)  Jowar, Gram (2) Bajra, Wheat
(3) Jowar, Groundnut (4) Cowpea, Green gram, Red gram
90. WY Tl U fUerareier smde Rt aaw oy et s 2
(1) 40 (2) 20 (3) 17 (4) 60
Out of the total cultivable area of Maharashtra state, what is the percentage of
irrigated area ?
(1) 40 (2) 20 3y 17 (4) 60
91, foush o vgdiiar o S fedt 2o firen oIt aee B 2

(1) 4071 50 (2) 207 30
(3) 70T 80 (4) 107 20
What is the percentage of saving of irrigation water in drip irrigation system ?
(1) 40 to 50 (2) 20 to 30
(3) 70 to 80 (4) 10 to 20

HoEAl BERIS! 3T / SPACE FOR ROUGH WORK
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92. TRRPTE TEREE TaE wd 3l GUEY 9T 9 2008 — 09 Wed fhd g ?
(1) 110-7 fF3AV3. @ 1274 f5a/z.
(3) 1357 fRal/z. (4) 1457 fEel/R.
What was the average use of inorganic fertilizer per hectare in Maharashtra during
the year 2008 — 09 ?
(1) 110-7 kg/ha. (2) 1274 kg/ha.
(3) 135-7 kg/ha. (4) 1457 kg/ha.
93, WH =9 DrEd TgA fRdl fhell A ST e S 2
(1) 56kg (2) 135 kg
(3) 17-8 kg (4) 24-8 kg
How much kg. of Nitrogen is added in the soil from one tonne of FYM ?
(1) 56 kg (2) 13-5 kg
(3) 178 kg (4) 24-8 kg
94, iy G oE AT YHOEHTS @ S G SeHRoT g fhdt Zae sremr
A ?
(1) 30% &1 3ffee (2) 20% UET FH
(3) 15 Tak UET FAH (4) 10 ZFF Taq1 FHAI
What is the water holding percentage in organic fertilizers while deciding quality
retting ?
(1) More than 30% (2) Less than 20%
(3) Less than 15% (4) Less than 10%
95, WEEE B WG STHE WEE I @l 2

(1) e (2) I SEIH
(3) Yeareared (4) TYAREE e
Which of the following is not a branch of horticultural science ?
(1)  Pomology (2) Olcriculture

(3) Floriculture (4) Apiculture

T BHNTS! FMM / SPACE FOR ROUGH WORK
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96.

25 A

RN WA, TERIY ToY FEHd WA HeHeemIhd e holel @reieia S s
TG AT T ST AV gE s 2

(1) THER FE @Re) A

(2) Tl 9 FTU W AN

(3) Werig

(4) T Hlod A

Which of the following Agricultural produce purchase schemes initiated by the
Maharashtra Govt. through Maharashtra State Co-operative Marketing Federation is
still running successfully in the state ?

(1)  Monopoly Cotton Purchase Scheme
(2) Oilseeds & Pulses Purchase Scheme
(3) Mahagrape

(4) None of the above

97.

ATl S S &5 IACHA F1F TR0 3_G ?

(1) Gaia S99 9= 9"

(2) STMFQEA 9 WESU SHIT g

(3) aE= FH anfdE e

(4) =F w4

What are the reasons of low productivity of Indian agriculture ?
(1) Lack of use of improved technology

(2) Uneconomical size of land holdings

(3) Financial weakness of farmers

(4) All of the above

98.

FUA T IR TERY SRS SANREEIAN SR e ST ST ®MR guer
(S=. A .30.) welt snfiear el ?

(1) 1948 —1949 (2) 1992 - 1993
(3) 1994 -—-1995 (4) 1996 - 1997

In which year did the Government of India sign the World Trade Organisation (WTO)
agreement and when did the WTO come into existance ?

(1) 1948 -1949 . (2) 1992 -1993
(3) 1994 — 1995 (4) 1996 — 1997
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99, fE TR Waigs Hedmd HIOd 7
1) e wig 594
(2) @ S I
(3) T@ SR I
(4) e feEm
Which is the best measurement of economic development ?
(1) Net National Product (NNP)
(2} Per capita income (PCI)
(3) Gross Domestic Product (GDP)

(4) Disposal of Income

100. 3 FEEATAE GETEiE FOR A oI FEr 3 ?
(1) S TEE daE
(2) SITEEd ST TAav[ehd, T BEE
(3) e sered, ST A T
(4) Fba =&
In management of agriculture, which of the following principals is most important 7
(1) High cost technology
(2) High investment and low profit
(3) Maximum production of optimum investment
(4) All above

101. WERIPT wg T i e A @R FOA S I,
(1) 2004 -05
(2) 1990 -91
(3) 1999 — 2000
(4) SR TS TR
In Maharashtra, National Crop Insurance Scheme is being implemented since
(1) 2004 -05
(2) 1990-91
(3) 1999 - 2000
(4) None of these

Feed] BHNIS! S / SPACE FOR ROUGH WORK
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102,

28

% = AT g A1 YA .
(1) Teheldd 399/ I a9
(2) 192 39/ 3q”d @4
(3) IURA W/ Thedd 3cq
(4) IqRA G/ s aam

Benefit cost ratio is worked out by the formula
(1) Gross monetary returns / Cost of cultivation
(2) Net monetary returns / Cost of cultivation
(3) Cost of cultivation / Gross monetary returns
(4) Cost of cultivation / Net monetary returns

103.

Tt Sfdfdea I T FEAERE FO AT w2

(1) e &Y 2) @ 9@ e

(3) =R WEl @Y (1) TEY SAEAET T
Which of the following is useful to caleulate per quintal production cost ?
(1) Cost of cultivation (2)  Cost of farming

(3) Cost of business (4) Cost of production

104.

WWWWMW7
(1) THY=EE, IMedl, TN

(2) IMYETEE, e, 9N g Oedr

(3) UEHN Ud HEAN, I, FY i

(4) UMY, Ve, Afge Hew

Which of the following is the basic organization at village level ?
(1) Gram panchayat, school, hospital

(2) Gram panchayat, school, co-operative socicty

(3} Co-operative path sanstha, school, Agricultural Mandal

(4) Hospital, school, Mahila Mandal

105.

TSI WX HI0! § R fasme SmEe s 2
(1) e foum (2) N wemEE fasmr

(3) Tegd fawmr (4) =97 fqum

Which department is responsible for preparation of the Budget ?

(1) Department of Budget (2)  Department of Economic Affairs

(3} Department of Revenue (4) Department of Expenditure
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106, F% THK TH 3feEF FE G FA
(1) s et oAt
(2) T et
(3) I oY TR T TR
(4) @A freEd Sauars |
When does the Central Government present the supplementary budget ?
(1) For the purpose of employment generation
(2) Poverty alleviation
(3) In emergency period like war, earthquakes
(4} For controlling inflation
107. o TEEE e SIREsA e Ao ?
(1) HETeHT el (2) =1 T fam
(3) W, fadaw (4) ST TETerE
Who is the architect of the structure of India’s Five Year planning maodel ?
(1) Mahatma Gandhi (2) Dr. Manmohan Singh
(3) P.C. Chidambaram (4) Prof. Mahalnobis
108. 1950%@@@@@%%@(%)%@@ e MR
sefeen afie 3 e Feild @eg sietsd 3R ?
(1) 5 TR A (2) 2 TaaiE A
(3) 4 Umalieh A (4) HIUTCHE AR
Since the 1% Five Year Plan was introduced in 1950, in how many plans has the
growth performance of the economy exceeded the plan target ?
(1) In 5 Five Year Plans (2) In 2 Five Year Plans
(3) In 4 Five Yecar Plans (4) None of these
109. 957 THAle AT F@W HEREET dEe T5d ScEl §Ed 8 6 (CAGR) 3

g ?
(1) 53% (2)  3-8% (3) 35% (4) 83%

During the 9P Plan, at what CAGR (Compounded Average Growth Rate) did
Maharashtra’s Gross State Domestic Product increase ?

{1} 53% (2) 3-8% (3)y 3-5% 4) 83%

Hoe SIS 3T / SPACE FOR ROUGH WORK
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110.

30 A

AR Yealisw  demsiate UPE uadeR Bl s Avgminer (monitorable)
27%%@%@%%%@@@53@%%?
(1 13 (2) 18 (3) 27 4) 15

How many out of 27 monitorable national targets have been disaggregated into
appropriate targets for individual States in the 11'" Five Year Plan ?

(1) 13 (2) 18 3) 27 (4) 15

111.

Wﬁwww‘ﬁéﬁﬁeﬂé?

(1) 3t anfor fafa (2) WESHS Tega AT e w@g
(3) <ol T (4) HEE fzEor

Fiscal policy is connected with

(1) Imports and exports (2)  Public revenue and Public expenditure
(3) Issue of currency (4) Population control

112,

GIEAiE O FIHEl A% SR aR gE S i e R e
FEETE FVAT Wed B 2

(1) v wrEEngE (2) TEHE [AdE

(3) HTWENR =R (4) fra Arewen

Which of the following factors helps in rapid economic development or economic
growth ?

(1)  Country’s Resources (2) Foreign Investment

(3) International Trade (4) Fixed Assets

113.

G AT HvTedr ToAT atus s sme 2

114,

(1) g ¥ (2) TE

(3) Wy (4) I F=

Which of the following Indian States has the maximum number of universitics ?
(1) Andhra Pradesh (2) Gujarat

(3) Maharashtra (4) Uttar Pradesh

GreAieTdel I e GERd TS A Seediel gafud gt ?

(1) fScer Hez (2) fawriy e wfyer

(3) W A (4) v=rgd gl

Which of the following concepts is no# a part of Panchayati Raj ?

(1) District Board (2} Town Arca Committecs

(3) Village Sabha (4) Panchayat Samiti

el HHTS ST / SPACE FOR ROUGH WORK
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115. T EETF I

(1) T Aeyd AfHw (2) VT @| S

(3) T HeYd T T (4) Trafmen amama st
Deficit Budget means

(1) Revenue more than expenditure (2) Expenditure exceeds revenue
(3) Revenue equal to expenditure {4) TImport exceeds export

116. [ TS WA AFTE e T AT T5F &I 7

(1) 7 W (2) TS

(3) I ¥ (4) FHAEE

In which the following states of India is the population density the highest ?
(1) Madhya Pradesh (2) Rajasthan

(3) Uttar Pradesh (4) Karnataka

117.meﬁ1973wmmmmaﬁ?

(1) T «fEd (2) S wAAH

(3) R (4) HH. 0

Which committee was appointed in 1973 for the study of unemployment ?
(1) Raj Committee (2) Dr. LK Jha

(3) Bhagwati (4) K.C. Pant

118. @S SR TOA § AR adT 7@

1y A (2) R

(3) s wEIOR 3t (4) aMder @il AE
Which one of the following currencies is not a legal currency ?
(1) Coins (2) Notes

(3) Banks demand deposit (4) None of these

119. TREE FRENERY @Ry S YR 3 7

(1) drHeE (2) BFAIE

(3) A (4) iEHTRIE!
Which type of nature is found in the Indian planning ?

(1) Democracy (2) Dictatorship
(3) Centralized (4) Capitalized
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120.

32 A

mmﬁmwmma@?

(1) = feoeh (2) Heg

(3) < (4)  FreE

Where is the Asian Development Bank’s Indian residential office situated ?
(1) New Delhi (2}  Mumbai

(3) Chennai (4) Kolkata

121, WRRIETE] A 2009 - 10 A1 64 T fsmrarer e Svararst foedt B TR
TS Fell 3T ?
(1) % 155 T (2) %125 HE
(3) %120 FY {4) T 150 HiET
How much amount is reserved for the development of tourism in Maharashtra’s budget
for the year 2009 — 10 ?
(1) T 155 crores (2) T 125 crores
(3) ¥ 120 crores (4) T 150 crores
122, g1 Fa 9 fasmg dgamr s s s 2
(1) e fasra sifuer (2) foeer fase sfysm
(3)  rerHH (4) forcerm |
Who is the chairperson of the District Planning and Development Commission ?
(1)  District Development Officer (2)  District Planning Officer
(3) Guardian Minister - (4) Collector
123, UM & A1 9o o e,

(1) "oy (2) TSI

(3) ToRI™ (4) I W

Employment Guarantee Scheme was firstly implemented in state,
(1) Maharashtra (2)  Gujarat

(3) Rajasthan (4)  Uttar Pradesh

FHeT HRRNST S / SPACE FOR ROUGH WORK



A _ 33 KST

124. NABARD ¥ J0i&Yq 3Te.
(1) vee ey A S Tides O Saaei
(@) e 9% BR CieeR 1w AT
3) v TiFer 9 #in Cheee Y SHe
(4) T R
NABARD’s long form is
(1) National Addition Bank of Agriculture Resource Development
(2) National Bank for Agriculture and Rural Development
(3) National Agriculture Board of Agriculture Resource Development
(4) None of these

125. Seae U1 SifaH SR SHioTEt ggdl

(1) JTEsh (2) Hi&R

(3) T (4) =R
Whom does the burden of direct tax affect in the end ?

(1) Consumer (2) Government
(3) Tax-payer (4y Trader

196. a0 e 3T &Yl B 7

(1) 3Ny (2) faedms

(3) ASHTAF (4) FATHE AR
Which is said to be the soul of financial administration ?

{1) Budget " (2) Financial sheet
(3) Planning sheet (4) None of these

127, SN FUE FOHEER s 9 weoETemE R wwar sfiwn qyde

A 7
(1) AW 148 (2) FHAH 142
(3) T 155 (4) FAT 130

Under which Article of the Constitution, can the President appoint the Comptroller
and Auditor-General ?

(1) Art. 148 (2) Art. 142
(3) Art. 155 (4) Art. 130
Heel BHTETS] S0 / SPACE FOR ROUGH WORK | .
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128. fasilat wegel oRar wOEvr ST et R s 2

(D foc fawm (2) HETeRETaTer

3) A% @ g (4) ariEr =

Which department conducts the sales tax revenue audit ?

(1) Finance Department (2)  Accountant General
(3) Public Accounts Committee (4) None of these

IZB.WWWWBT@WTWN@H?

(1) 9Rd §&R (2) Us¥ "R

(3) feemr wftwg (4) T @BiE
Who has rights to charge income tax on agricultural income ?
(1) Government of India (2) State Government
(3) Zilla Parishad (4) None of the above

130. RPN EFH R feawh faurada gieer s ?

1) 21 A (2) 19 W

(3) 2199 (4) 1@

On which day is Maharashtra’s budget put in front of the Legislative Assembly ?
{1} 21 February {2) 19 March

(3) 21 March (4) 1 April

131. U ol - Feg WA, AR o Seien RS awa 8N, steee sersn STERiG S
T TgT T Fea d g R A dre- e den d 3eR e g are § aR
eI MEred Ao TS fFARTEeR i QR v R s @ @
feam agee. Wy o o0 wda GEEvAE! AR seerges @ e sEEe 900 3

Fe W A AR FEvarE o #vrdt 2 |
1) ® (2) ufe=m (3) fr (4) I

Once, the South-East Monsoon winds were flowing in their regular direction. Suddenly
they change their direction as low pressure belt was formed in the Bay of Bengal.
After some time they started flowing toward North. But as they reached Madhya
Pradesh a low pressure belt was developed at coastal Gujarat and they changed
direction. Before reaching Gujarat due to sudden change in atmosphere they turned
through 90° to their left and started flowing. What is their direction now ?

(1) East (2) West (3) South {(4) North
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132, Wt Feote oA O fau @ O frepd 1 enfn 11 R SIRE. d e A s
fird 47 og o facien faumrgER 2.
g T B A

Fraed © 1 99 g el .
II 99 I3 Tl A
(1) & 1A (2) wad I A

(3) 1 fHar 11 (4) 19 1 T Arg A

In the guestion below, two statements are given followed by two conclusions no. I &
II. Read the conclusions and then decide which of the given conclusion(s} logically
follows from the two given statements.

Statements :  All flowers are stems.
All stems are roots.

Conclusions : 1. All roots are flowers.
II. All stems are flowers.

Mark your answer as

(1) if only _conclusion I follows (2) if only conclusion II follows

(3) if either 1 or IT follows (4) if neither I nor II follows

133, fodmd vz 304
(1) 9% (2) @S " (8) T (4) feremef
Find out the odd word :

Brother, Father, Uncle, Student _ )
(1) Brother (2) TFather ~ {3) Uncle (4} Student

134, 779 3% 3% UHFEN AGEA AN U TR G Wied Sedde B fedr 2
(1) 37 (2) 36 (3) 13 4) 17

What is the difference between the biggest number and the smallest one which can
be made from 7 and 3 ?

(1) 37 (2) 36 (3) 13 (4) 17

T PHES! S / SPACE FOR ROUGH WORK
P.T.O.
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185. ¥ 1241 fa@m aidier forurealdl erafacidl sRerdsd aras a9 smadmed foel oM,
iR qNTEe F e e ?

SIPETR
(1 SN g Afewad s smuR e
(2) MR 7 et a9 smom faondf
(3) Hfewa 7 sifbeand) sas sravy Fendf
(4) R wrEE anaE stHuT femdf

The following Venn diagram shows the liking of 12!" standard Science students about
their career.

What conclusion will you draw from the shaded portion of the Venn diagram ?

Engineering Medical
edica

Agriculture

(1) Students liking Engineering & Medical stream
(2} Students liking Engineering and Agriculture
(3) Students liking Medical and Agriculture

(4) Students liking all the three faculties

ol HIEISE ST / SPACE FOR ROUGH WORK



A

37

136. fadma fadyra afrea.

YA B UF SEEER FEA IGHIA AW ST,
e

(1) ofemfs &F e STuvae SH

(2) UFV UL GHYHS dequdrel nury

(3) HICHANG 9 THAMS Tl A A AHER

(4) @ I e doen AW

Identify odd indicator.

Bhutan is a responsible carbon ncutral nation.

Options

(1) Priority for bringing more arca under agriculture

(2) Priority for increasing Gross National Happiness Quotient
(3) Use of pesticides and chemical fertilizers is not allowed
(4) Mining industries are developed

137.

I Siqsaser O aamﬁ

1. Ffgde Fefarn T

M, &5 gad g faan A

IV, o Sfasiasmrr gl A

V. wicslasr ufged am

VI, RN arm

VII, Tfa S dRfErn 35

1) Vo VI -51V>1 > VI

2 N VI>IVo>V Il -1 VII

3y VI VIl »>IV->Il 51— VII

(4 VII-VSII>II-»>IV->1->VI

Arrange the following events in a logical sequence :
1. Skipping of antibiotic dose

II.  Destruction of very weak bacteria

III. Destruction of less weak bacteria

IV. Immediate administration of second dose of antlblotlc
V.  First dose of antibiotic

VI. Bacterial infection

VII. Emergence of immune variety of bacteria

(1) VoVl 1II 5 1IVI - VI
2) N> VI-IVosVoIll->1- VII
3 VIV Il IV IOl —»>1- VII
4) VII- VS -1II -IV>1 - VI

oAl HHRIS! JIFT / SPACE FOR ROUGH WORK
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138. “31” & R TH WHUET TRAG RN 360° FAT S . @ § o @
MR Teae! faPd 180° i it W, @ w1 Qi ST SR Bt 2
(1) 90° (2) 180° 3y 0° (4) 360°
“A” moves clockwise through an angular distance of 360° from a particular point.
“B” moves clockwise through an angular distance of 180° from the same point.
What is the angular distance between A and B ?
(1) 90° (2) 180° 3y 0° (4) 360°
139. Gred "idsr 9of &7 ¢
CEF, CGH, C1J, CKL,
(1) CNM (2) CMN (3) MCN (4) MNC
Complete the following series :
CEF, CGH, CIJ, CKL,
(1) CNM (2) CMN (3) MCN (4) MNC
140, TEAEds FU T TS 3w ?
125, 64, 36, 27
(1) 125 (2) 64 (3) 36 (4) 27
Which of the following numbers is different from others ?
125, 64, 36, 27
(1, 125 (2) 64 (3) 36 (4y 27
141. YyAfa-grea Sofl S0 g el ?

S HONESTY = MTSJXYD @™ SOLUBLE = ?

(1) XTQZGJQ 2) XQTGZJIQ
(3) TXZQGQJ (4) XTQZGQJ
Which word should come at the question mark ?

If HONESTY = MTSJXYD then SOLUBLE = ?

(1) XTQZGJIQ (2) XQTGZJQ
(3) TXZQGQJ (4) XTQZGQJ

el SHEFTS! ST / SPACE FOR ROUGH WORK
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142, S s fafved soAre gEi ara @i e
I e e 6 Al Hial 37
I, Tareea W% 1982 el Sel. |
11 ST WS MO WAt dee g o) TS § aui e I,
() I91l (2y 119 Il
(3 L9 Il (4) 14911l
Select the correct alternative to decide Sanjay’s year of birth.
1. Sanjay is 6 years older than Gopal.
II. Gopal’s brother was born in 1982.

III. Sanjay’s brother is 2 years younger than Gopal’s brother who is 8 years younger

than Gopal.
() TandII {2) Il and IIT

(3) I Il and III (4) TandIII

143, TE AT feded SRR e Hord 27

oip)
(1) {2) (3) (4)

Which figure is the image of the figure shown along with mirror ?

Answer options

(1) (2) (3) (4)

ST TH™EG! S / SPACE FOR ROUGH WORK

P.T.O.
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144. GHSHIEIIRA I IIRGHE ITANT FAld FHROT
(1) 1 Ut gl S S 3edT e UHEl Seheiteg aH ST
(2) 1 YAHT g I A A WA SehelAfag, SR 7Sl
(3) A UK B T FHH STHTANS U SeheAlag FAT ST
(4) ¥ UNSHR gET TG G GO IweS W A
‘Pressure cooker is used at high altitude because
(1) at this level boiling point of water is low due to hlgh air pressure
(2) at this level boiling point of water is high due to low air pressure
{(3) at this level boiling point of water is low due to low air pressure
(4)  at this level water never boils due to lack of air pressure
145. X 1234 = RICE 9 576 = MAT, @ 63741 = ?
(1) CTAER (2) TCAER
(3) CTEAR (4) TCARE
If 1234 = RICE and 576 = MAT then 63741 = 7
(1) CTAER (2) TCAER
(3) CTEAR (4) TCARE
146. mﬁmmwmmmmmwmwﬁmﬁwmﬁﬁ
TS TEEHE SR, d sty g,
a ba_cbaac_aa_ba
(1) cchb (2} cabe (3) cbcb {4) bacc
Question below is based on letter sequence. In the scquence, some letters are missing
which are given as one of the four alternatives under the sequence. Find the correct
alternative,
a_ba_cbaac_aa_ba
(1) echh (2) cabe {3) cheb (4) bace
147, S S Gl 10 Mad T TF T8 T saal Qifiaedr @ o1 99 e gqvammst

ferelt oz @mre ?
(1) 8494 (2) 5499 (3) 10 d™ 4) 9499

If your doctor tells you to take one tablet after every hour, then how many hours will
it take to complete 10 tablets ?

(1) 8 hours (2 5 hours {(3) 10 hours (4) 9 hours

ol PHNIB! 31T / SPACE FOR ROUGH WORK
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148. ‘PLATO’ & v 35204 3740 feifgen T 043 1 G 319 sl ?
(1) TPO _(2) TOP (3) PTO (4) PLO

In coded language, if the word PLATO is written as 35204, then what is the meaning
for coding 043 7

(1) TPO (2)y TOP (3y PTO (4) PLO

149, o7 ¥ §9 ‘S U §WE N B R R R I
ww%.mﬂaﬁwﬁﬁaawﬁw@m? |
(1) F 3 % @) & amfn &
(3) 3 3T S (4) 3 0T F _
Age of ‘A’ is twice the age of I but half of ‘B’. Age of F’ is half the age of ‘D" and
twice that of ‘C’. Then who is the eldest and youngest of all 7
(1) BandF (2) BandC

(3) Aand D (4) Aand F

150.mmc%m3maﬁmmmmaﬁﬁaﬂﬁcm%mmsﬁa?

(1) CWE (2) DWE (3) EXF (4) DWF
If AZC is changed as BYD then by the same rule what is equal to CXE 7
(1) CWE (2) DWE (3) EXF (4) DWF

151, Tl T T SO UeE .

G+L=19,D+1=13 M+T=33E+K=14 30 N +R =32
(1) G+L=19 (2) N+R=32

(3) D+I=13 4) E+K=14

Find the odd man out from the following group.
G+L=19,D+I=13,M+T:33,E+K=14andN+R:32
(1) G+L=19 (2) N+R=32

3 D+I=13 4y E+K=14

152.@@@%%%@%%%.@@@%%%@@%%
R, T FAA A ST R 2

(1 fo= (2) SEIA (3) T (4) fau

Raju is elder than Tushar but younger than Prashant. Vinay is elder than Vera and
younger than Tushar. Then who is the eldest of all ?

(1) Vinay (2) Prashant (3) Raju (4) Vera

Hoed] BIERS! SN / SPACE FOR ROUGH WORK
- P.T.O.
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153, 7T T FHUR VE 3fesE,
(1) W (2) =R (3) W (4) i
Find the odd man out of the following words.
Mercury, Silver, Zinc, Copper _
(1) Mercury (2) Silver (3) Zinc , (4) Copper
154, TEiaded, fermdis 3 sTeares AfeAdter wEgREsY SR SR S 2
(1) (2) {(3) (4) '
Which of the following figures shows mutual relationship between College, University
and Lecturers ?
(1} (2) (3) (4)
155. AT ®ivdl der faima o) 2
(1) 35 (2) 49 (3) 50 (4) 63
Which is the odd number in the given options ?
(1) 35 (2) 49 (3) 50 (4) 63
156. SR T 98qes Beel, SSAB vl Teet, fvmeEiar weesy medt, vesiven fagst

e T YR IFe H AU ?
(1) V=&Y 2) firgrE
(3) T=AS (4) Fieder HE AR

If book is called watch, watch is called bag, bag is called dictionary and dictionary is
called window, which is used to carry the books ?

(1) Dictionary : (2) Bag
(3) Watch (4) None of these

el BTSSR / SPACE FOR ROUGH WORK
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157, A TR B U1 % 300 7 S SR, B A GIR C VAT T 200 7 S 3. S B 007 C
o7 TEFT TR I 1800 FHA, T A ™ TR feell ?
(1) T 1,600 (2) ¥ 800 (3) ¥ 1,300 {4) ¥ 3,100
A’s salary is T 300 more than B’s salary and B’s salary is T 200 more than C’s salary.
If the total of B’s and C’s salary is ¥ 1800, then what is the salary of A?
(1) T 1,000 (2) T 800 (3y T 1,300 (4) ¥ 3,100
158. T 7 SEURI Hel e
(1) (2) 3= (3) HLEH (4) RIS
Find out the month which does not bhelong to the group.
(1) July (2) August (3) September (4) October
159. Teiel FeET R
A CD GHI ? UVWXY
(1) MNOP (2) NMOP (3) KLMN (4) MOPQ
Insert the missing set of alphabets.
A CD GHI ? UVWXY
(1) MNOP (2) NMOP - (3) KLMN (4) MOPQ
160, T T ®F T AH W R GUAEE ¥ 25 TIRRPEO W G . I
35§ elieiE W @UE S W QoIR8 e gE gl W e TEOT A
fopet 7
(1) T 42,000 (2) ¥ 26,000 (3) T 5,925 (4) ¥ 7,000
A trench 2 feet wide and 3 feet depth is to be dug. Daily 35 fect trench is dug. The
labour cost for it is T 25 per cubic foot. What will be the total labour cost of the same
if the work continues upto 8 days ?
(1 ¥ 42,000 (2) T 26,000 (3) T 5925 (4) T 7,000
161. <X D2 = 256 3T T U2 = 441 30 W, K? =?

(1) 348 (2) 321 (3) 121 (4) 231
1f P2 = 256 and U? = 441, then K? = ?
(1) 348 (2) 321 (3) 121 (4) 231

ol SHNIS! 3P / SPACE FOR ROUGH WORK

P.T.O.
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162. ST MEAD — AGID = 2 &
TIME — MINE = ?
(1). 10 (2) 8 (3) 6 4y 7
If MEAD — AGID = 2 then
TIME — MINE = ? _
() 10 (2) 8 3) 6 4) 7
163, @l Avi g2 vl g e S 2
9.8 8.7 7.6 _
8 512° 6 216" 4 64’
5 4 6 5
1) = — =
(1) 5 38 (2) 2 g
8 7 7 25
3) — i — 4) - —
®) 7 343 @ 5 125
Which pair of numbers comes next in the following series ?
9,8 8.7 7.6
8 5127 6 216" 4 64’
5 4 6 5
1 - . — —_ =
S 36 @) 28
8 7 7 25
3) - -— 4y - =2
® 7 343 @ 5125
164. YT TFATHS WS & TH FARTY A Goard Hefl. FEl ek e Neamer e fagm

T, YT RV fGR o e @ Ioreliohe deer. A1 sfa AeredmE @ ol
HA degd AT ATl TR el Srervarer s feem w2

(1) T (2) ufeem

3) IW (4) <o

Atraveller turned back towards the Pole star and started walking. After going straight
through a distance he changed his direction. After travelling in the direction of Venus
he turned to the right. After travelling some distance he turned back and walked
ahead. Which was his final direction of walking ?

(1) East (2) West
(3) North . (4) South

BT BHRIAS! 31T / SPACE FOR ROUGH WORK
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e
= o L
A [a] 2

© © [ &

(b

(3) (4)

Select the correct alternative in place of the question-mark.

ARE A
= & [
/o\

A )

@ © B A

(3) (4)

FHoedT BB ST / SPACE FOR ROUGH WORK

P.T.O.
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166.

46 A

feerean ot medd veg WL

S STING (SONS) ROOFS

dl GROAN (______} ALOUD

(1) LOAN (2) ROAD (3) GLAD (4) AROUND
Insert the missing word from the given alternatives.

If STING (SONS) ROOFS

then GROAN ( )y ALOUD

(1) LOAN (2) ROAD (3) GLAD (4) AROUND

167,

aq@‘cﬂﬁﬁﬁrgﬁmaﬁ ﬁvﬁ%ﬁmﬁmwwmﬁw.

2602 1601 459 (4) 2592

There is a spemﬁc rule in the following ﬁgurcs. Find that rule and write the number
in place of the question mark.

(1) 2602 1601 459 (4) 2592

168.

@Fﬁamﬁﬁﬁ’mﬁjmﬁﬁaﬂ% ﬁwﬁaﬁrwwfarﬂwwﬂwﬁmaﬁﬁ@m

o ofe T 0T

(1) 50 2y 70 (3) 90 {4 110

There is a specific rule in the following figure. Find that rule and write a number in
place of the question-mark.

6 12 20 30
4-—20 6+42 8+72 10<i—~?
2 : 3 4 5

(1) 50 (2) 70 (3) 90 (4) 110

AT HHRIS! ST / SPACE FOR ROUGH WORK
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169. Tl FHRA TRAtareA SOl HOR F@ WK ?
125, 154, 185, 228, ?
(1) 258 (2) 270 (3) 228 (4) 289
Which number will come in place of the question-mark in this series ?
125, 154, 185, 228, ?
(1) 258 (2) 270 (3) 228 (4) 289

170. SR Education = 92
T Magazine = ?
(1) 76 (2) 152 (3) 92 (4) 132
If Education = 92
Then Magazine = ?
(1) 76 (2) 152 (3) 92 (4) 132

171, O W st gf w2

510, 478, 438, ___, 334

(1) 419 ©(2) 390 (3) 368 (4) 348
Which number will complete the sequence ?

510, 478, 438, ____, 334

(1) 419 2y 390 (3) 368 (4) 348

172. Telel HEARE FYATagrea S R W age ?
AOCQ, BPDR, MYKW, ?
(1) LXJV (2) HTFR (3) ESGU (4) IUFR
Which will be the correct option in place of the question-mark ?
AOCQ, BPDR, MYKW, ?
(1) LXJV (2) HTFR (3) ESGU (4) IUFR

178, Yyafa=red Srl 9y g 9wl

1,2, 9,64,?

(1) 81 {(2) 100 (3) 425 (4) 625
What is the correct option in the place of the question-mark ?

1, 2,9, 64,7

(1) 81 (2) 100 (3) 425 (4) 625

T SHRIS! S / SPACE FOR ROUGH WORK
P.T.O.



KST

48

174, Qe Y€ Mieadtel foadiE v aitear.

ENEFTIF
OWROROMT
ENEVLE
ENVTSEY

(1) ENEFTIF (2}

(3) ENEVLE - (4)

ENVTSEY

OWROROMT

Find the odd word in the following word series.

ENEFTIF
OWROROMT
ENEVLE
ENVTSEY

(1) ENEFTIF (2)
(3). ENEVLE ' {4)

ENVTSEY
OWROROMT

175.

17, 30, 47, 70, 93

(1) 47 (2) 30 (3)

Find the odd number in the following series.

17, 30, 47, 70, 93
(1) 47 (2) 30 (3)

17

17

(4)

(4)

70

70

176. Gl 3is QRIS faea 3% g 3fier.

225, 289, 324, 359
(1) 225 (2) 289 (3)

Find odd group in the following numbers.
225, 289, 324, 359

(1) 225 (2) 289 (3)

324

324

(4)

(4)

359

359

ST SIS 3R / SPACE FOR ROUGH WORK
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fa ;

3 e o TeEiE §¥ A,
g g 7 OEoR e e 89 HLdaw.

= WeE o f SR EE die WemE g9 R .

(1 2y o 3) & (4) €

In a city, some people are religious but some do not follow any religion. Some people
love their religion only but some of them hate other religions. So, from this which of
the following statements is completely correct ?

A.  Religious people hate other religions.

B. Pecople not believing any religion hate religious people.

C. Some people who love their religion, do not hate other religions.

D. Religious people hate the people who do not believe in religion.

1 A (2) B 3 C 4) D

178. ¥, a,maﬂﬁwgéwﬁéaﬂ%ﬁmﬁmm@aﬂ%,mmwﬂm@é
S e S 2/5, 3/8, 4/9 T 5/12 IR, @ femoTER walq wH g@h &M
Fia A 2

(1) o 2y o (3) = 4y ©

A, B, C and D are four families. Their income is equal. The education expenditure of
a1l four families is 2/5, 3/8, 4/9 and 5/12 times their income respectively. Which family

spends least on education ?
(1) A (2) B 3y C (4) D

179.@?@@%@@%@@%@_%. 318 aurqEl ge @ ycien Fal sl
50 T 30 % A€ e 99 fhdt ?
(1) 50 a9 (2) 48 @ (3) 46 o (4) 45 %
Two years ago mother’s age was thrice that of daughter’s age. Sum of their ages
8 years before is 50 years. What is mother’s present age ?
(1) 50 years  (2) 48years  (3) 46 years (4) 45 years

180. WATATH! HUT HEAl FoRieRal 7@t ?
912, 518, 714, 516
(1) 912 (2) 518 (3) 714 (4) 516
Which of the following numbers is not similar to others 7
912, 518, 714, 516-

(1) 912 (2) 518 (3)y 714 (4) 516

T HETEIS! FT / SPACE FOR ROUGH WORK
P.T.O.
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181. ST JEEP = 144 37ftT MANY = 212, @ SHOW = ?

(1) 130 (2) 210 (3) 240 (4) 260
If JEEP = 144 and MANY = 212, then find out the value of SHOW.
(1) 130 (2) 210 (3) 240 4y 260
182, I T AU WEH KUt ?
4389, 9834, 8734, 8943
(1) 4389 (2) 9834 (3) 8734 (4) 8943
Which number does not belong to the group ?
4389, 9834, 8734, 8943
(1) 4389 (2} 9834 (3) 8734 (4) 8943
183. SR BOX ®UN 25-12-3 T FILE V9
(1} 6-9-12-5 (2) 21-18-15-22
(3) 15-19-21-20 (4) 21-19-18-15
If BOX stands for 25-12-3 then FILE stands for
(1} 6-9-12-5 (2) 21-18-15-22
(3) 15-19-21-20 (4) 21-19-18-15
184, Y¥AfGgreaT ST it 3rR gdd ?
ZAY XEW VIT SOR ? '
(1) SUR (2) ROQ (3) QUP (4) SUQ
Which letters should be in place of the question mark ?
ZAY XEW VIT SOR 7
(1) SUR (2) ROQ (3) QUP (4) SUQ
185. S, 36 x 61 = 6631
43 x 40 = 3440
69 x 83 = 9863
T A AR 27 x 96 = ?
(1) 5368 (2) 7926 (3) 8312 (4) 7824
If, 36 x 61 = 6631
43 x 40 = 3440
69 x 83 = 9863
then according to the same meaning 27 x 96 = ?
(1) 5368 (2) 7926 (3) 8312 (4) 7824

] BRINTS! 3NN / SPACE FOR ROUGH WORK
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186. mmmmﬁamwwmmm.
1 3 5 .
' 2‘3 4 5 6 7
(1) 74 (2) 41 (3) 87 (4) 47

In the following figures, find out the number in place of the question mark in the
third triangle ? '

AAA

(1) 74 (2) 41 (3) 37 (4) 47

187, SR ‘T @ ‘Y U Wel, ¥ Ow W Yo @ SR U W E E g HUE Hel TR @
g T fAgen
(1) T oE T Y FHE A
2). T @ ‘T U HHE TR A
(3) T E W Ya FHE R AL
(4) ‘T & ‘g U Hol AR
If ‘IY is bigger than ‘E’, ‘E’ is smaller than ‘¥, but ‘F’ is not bigger than ‘D’ in any
case, then mark the correct alternative.
(1) ‘E’is not bigger than ‘D’ in any case
(2) ‘E’is not less than ‘D’ in any case
(3) ‘E’is not less than ‘F’ in any case
(4) ‘F’ is bigger than ‘D’

188.ﬁwaaﬁMgﬁmmwﬁmaﬁm.WWWMSaﬁaﬂ%W@
3_3 gyl S o R faere a9 A AR ?
(1) 44 7 2) 4294 (3) 45 T8 (4) 50 ay

The average age of Vijay and his 3 kids is 15 years. The age of the youngest child is
3 years. If the age difference between every child is 3 — 3 years, then what is the

age of Vijay ?
(1) 44 years (2) 42 years (3) 45 years (4) 50 years

o1 HHFTS! SN / SPACE FOR ROUGH WORK
P.T.O.
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189.

52 A

A, B, C,D,E F? 9Rad R afzmr w9 sa. @i sefead fo stasoen
ST S AT @A R A ASA e W Srelers SRt Sl weiee S
I ?

(1) BT F (2) Ea&fr A @) AT EF (4) C foT F

A, B, C, D, E, F are sitting in a clockwise direction in a circle, then they change their
places in anticlockwise direction. Then they change their places mutually. Then which
of the following pairs is a neighbour of each other ?

(1) Band F (2) Eand A (3) AandF (4) Cand F

190,

T T SEUR S ST,

(1) (2) (3) (4)
Find out the figure which does not belong to the group ?

191.

(1) @) (3) @
w Y _gom Yy
E 0
(1 7 @ 9 (3 10 (4) 8
0J LT

If — =30 then — =?
E O

1 7 @ 9 (3) 10 @) 8

192,

1%29Wm,sﬁﬁwﬁmammm‘mmaﬂmrmﬁm@wmm
TS S R G Agd 2
(1) 12 2) 15 (3) 18 (4) 21

The numbers from 1 to 29, which are wholly divided by 3, if all these numbers are
arranged in descending order, then which number stands on 5% position ?

(L 12 (2) 15 (3) 18 (4) 21

Bl BHNIS] STFT / SPACE FOR ROUGH WORK
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193. Tl atid * fagren Sl Hiv 3 JU 2
6 *
+7 %
+2 9
16 * _
(L 4 (2) 3 3 2 4) 1
In the following operation, which number will be in the place of (star) * sign ?
6 * 2
+7 *3
+2 94
16 * 9
1y 4 (2) 3 (3) 2 4) 1

O | w W

194. T Y¥ @ie g e sl e, Fiee e W

14 15 16 17 18 19
20 21 22 23 24 25 26

9510 : 13812 : : 2109 : ?
(1) 4712 (2) 4812 (3) 41213 (4) 41112

The question is related with the following number pyramid. Observe it and answer

the question.

14 15 16 17 18 19
20 21 22 23 24 25 26

9510 : 13812 : : 2109 : ?

(1) 4712 (2) 4812 (3) 41213 (4) 41112

$oh1 PHIS! S / SPACE FOR ROUGH WORK
P.T.O.
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195. 3, 9, %, T I IR Aadi=l PN GEN 7R,
aaﬂwqﬂﬂmgﬂm@ﬁaﬂﬁ
a’aﬂwmgwaﬁm.
%’WWW%W@%&T@.

T WU TREr O W wd w,

10
d{,
(1) &7 T F Wl & wd Far 2 T AT U IR ©F e
(3) T AT U FH @ Fan (4) & T gald s wd Her

A, B, C, D get equal salary

‘A’ spends gth of his salary
‘B’ spends gth of his salary
‘o épends %th of his salary

‘D’ spends %Lh of his salary

Then,
{1} ‘A’ spends less than ‘C’ (2) ‘B’ spends more than ‘D’

(3) ‘B spends less than ‘I (4) ‘C’ spends the least

196. 1RDA O +A 2K 45 = 55555 R T =1 SN UM 3 WES ?

(1) 2 (2) 3 3y 4 (4) 5
4 KD A O +A 2K 45 = 55555 then which number is at the place of ‘&=’ ?
(1) 2 (2) 3 3) 4 (4) 5

197.WWW“Wgﬁﬂﬁaéaﬁwwwaﬁr”mmwﬁmﬁmﬂ%
T HwE ?

(1) TSl (2) Her (3) il (4) dE¢

~3J

Seeta said to Rani, “Your daughter’s father is the son of my brother”. What is the
relation of Rani with Seceta’s brother ? '

(1) Grand-father (2) Son (3} Uncle {4) Father-in-law
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198. HEM HIUM Ve 397 A A v fesde ?
sp(___Jring
(1) art (2) oke (3) ile (4) ear
Which letter group can be put into the bracket to have two meaningful words ?
sp(___)ring
(1) art (2) oke (3) ile (4) ear
199. I 9 gE= TG S HAy IR 9 foe=n @ dten deid ome. A v, Snft e
TeAfa=TeA ST AU S S
135 :81::137:7
(1) 100 (2) 111 - (3) 120 (4) 121
There is some relation between the 1% and 2°¢ number. The same relation is between
the 3™ and 4™ number. Then find the number in place of the question mark.
135 : 81 ::137:7
(1) 100 2y 111 (3) 120 (4) 121
200. 3 fraafag faameiel fRad oR.

o I dRYE FEUAHERE HIH IR U AEAYIF .
o 30H dEYg § TU dSd8 9 heledlll 3T,

fresy

I 9 YR W 2Tl STHd.

IL % YRrT AvE & =il aRug .

TEIATH HUE S W oy ?

(1) 1911 (2) ®ad 1 (3) wEd 11 (4) wHE T
A statement pair is given along with two conclusions.

. A man must be wise to be a good wrangler.

. Good wranglers are talkative and boring.
Conclusions :

I.  All the wise persons are boring,

II.  All the wise persons are good wranglers.

Which conclusion is true 7

(1) TandIL (2) OnlylI {3) OnlyII (4) None of these
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AT - (g2 1 =9 E....)

(8) e faened fafeq oo fafte srfw &= &m (% &) U4,
AR T TAX FCER Fed B heqd o HU HOAAT FRIM ko A, I AR
e d WOR SHGEARER Y S heledr CwOmiRed @iomar e iy
HvgEETe AUEH-82" AN WA FNOR A A5d F QW ol BEE UE
FufeaT SRrETEr=AT ST/fHET €Ud TH BWN hHel oAl UWE U e,

(9) TR FYAEHART S fafsd Foe Yo HUcara SHCANEr § TYfEE e s
TR 93 SUAE W TR, WAl TS eaRy Wioayel SiEan e
ITULTRET WAT-1 ARG 7 Taatar uiq {0 Aaya® 2.

T 9

T H. 201, TG A AT FOAHERT BT o TqG bl 2
(1) @ TgHe W (2) ¥eEER faammR
(3) TS THAERA 1™ (4)  TEFST MEa

AR A I O3) TS TERRA UE I AR, W A1 WA W 43)”
3ée, AT EefteEm 1.5, 201 T w37 3 ads g sEifEr e
Tl avaT SR,

% 201, (D (@ . @

I TEdH TG WYAgRaedie Tod GV qREl IaGRE 8 qRelen saade
icie saafishalid @ < syshHiweHer Wefta e qoial s #e <.
TIH{AT Read Tidl IMge Sields 91930, Uf=ael &1 ggel -0 aue 79,
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